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Ready, Set, Go!

Ready

Topic: The Meaning of an Exponent

Write each expression using an exponent.

© 2012 www.flickr.com/photos/fdecomite

1. 6X6X6X6X6X6X6 2. 4X4X4 3. 15%X15x15x15 4 1yl
373
3
A) Write each expression in expanded form. B) Then calculate the value of the expression.
5. 7% 6. 32 7. 53 8. 10*
A 7 A) 3x3 A) 5xSx5 A) [OxOx% (0 %[O
B) 7 B) 9 B) 25 B) [65000
9. 7(2)3 10. 10(8?%) 11. 3(5)* 12. 16 (3)3
’ 2
A) Fx2x2 A)10x 8 xD A) 25 S<SxS A) !(oy\._—:;\&%)(é—;
B) 2% B) (o4O B) IFS B) - \
e
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Topic: Looking for patterns of change
Complete each table by looking for the pattern.
13.
Term 1st 2nd 3rd 4th Sth 6th 7th 8th
Value | 2 4 8 16 32 4 | 12» | 256 muu'ig_\jmﬁ
%z \/,:Z by 2
Y [Term | 1st | 2nd | 3rd | 4th | 5th | 6th | 7th | 8th
Value | 66 50 34 18 2 |-l4 [-30 |-Hb
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15.
Term | 1st | 2nd | 3rd | 4th | Sth | 6th | 7th | sth | dwickng By
Value | 160 | 80 40 20 | 1o | 5 | |l.2s | = 7
= A
VL \/x":
16. - =
Term 1st 2nd 3rd 4th Sth 6th 7th 8th
Value -9 -2 5 12 19 20 | 33 4o
A A .
\{} :} a Ad«r\c\ T
Set

Topic: Using a constant rate of change to complete a table of values

Fill in the table. Then write a sentence explaining how you figured out the values to put in
each cell.

17. You run a business making birdhouses. You spend $600 to start your business, and it costs
you $5.00 to make each birdhouse.

# of birdhouses 1 2 3 4 5 6 7
Total cost to build GOS8 | GO | 'S | Q20| 25| RO | L3S

—

Explanation: |+ 006\'%905 4o make MY fesk bird hovses (\:sme-t vp cosks
plug cost +o b“‘\d)- T then add BS cach birdhouse | bulu
ofter,

18. You make a $15 payment on your loan of $500 at the end of each month.

# of months 1 2 3 4 5 6 7
Amountof money owed | H85 | (470 | Y5 | YU | H25 | 410 | 295

Explanation:

T owe the bark 8500 At the end of Hhe Grel
o cy balance & M8S || conhrve 4o subtroct §ig

ﬁ\l(rxj Mon ‘M‘\
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19. You deposit $10 in a savings account at the end of each week.

# of weeks 1 2 3 4 5 6 7

Amount of money saved \O 20 0 40 | 50 O 310

Explanation: ld@%lt ke"li::/\ H’\e "1!":)(’ We e (¢ ‘«':.“i"\(& (ﬁ{\«h(\u(f’ }“ "-'“{({ i!)i

20. You are saving for a bike and can save $10 per week. You have $25 when you begin saving.

w
(o))
~

# of weeks 1 2 3 4

J
)

Amount of money saved | R | 4 T 55 | 6O ]

Explanation: l\S(‘Qr‘c W h €25% and akd # 10 Qf:{,@{ every
wWegle. :
Go
Topic: Using function notation

Recall that an expression such as f(2) = 11 is saying that when the input number is 2, the output
number is 11. The expression f(n) is called function notation. In an equation such asy = 5x + 1,
when the variable x is replaced with the number 2 (input value), the value of y becomes 11 (output
value) because 5(2) + 1 = 11. Instead of using x and y in an equation, mathematicians often write
f(n) = 5n + 1 because it can give more information. With this notation, the direction to find f(2),
means to replace the value of n with 2 and work the problem. The numbers 2 and 11 also represent
the point (2, 11) or (x,y) in the x-y plane, while the point (2,11) or (n,f(n)) is a point in the same
location where n describes the location along the x-axis, and f(n) is the height of the graph.

Given that f(n) = 8n — 3 and g(n) = 3n — 10, find the following function values.

21. f(5) = 22. g(5) = 23. f(-4) = 24. g(—4) =
M)z 8ls)Xs  gG):BG0 Rey- ga) s 9Ce): 3ce)
= 5 = _ 35 = - 22
24. £(0) = 25. g(0) = 26. f(1) = 27. g(1) =
1) 8(0) 3 @)= 3)- (o Y= 803 4() = 301 )-10
=0-3 =0-(0 =8-3 =319
=-3 ~-(0 =5 Tt
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